Mini Lifter

CAD
C SINGLE GUIDE POST TYPE )
FILE
4 N Travel S 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 [ 100 (110 | 120 | 130 | 140 | 150
OMLGT40 35
205 Block HeightH| 40 | 30 | 20 10 - 40 | 30 | 20 10 - 40 | 30 | 20 10 -
Cylinder Travel 50 100 150
- 140 Actual output of cylinder
Cylinder . ®Actual outpu
40 110 T Travel S: . .
32 #1400 SR Dlanseter Increments of 10 mm \(:lhe; the aw&;’gs)s(uge;s %ggﬂga
) it is rox. 7= .
M1z 2418 10to 50 PP
; | e O OMLGT | 40 [ 6010100
< l£1% /(@R S 110 to 150
ol § NI T \ I ) o
e o ; @ PR
41 ! M6 4-M12
80 155 Q Order [Catalog No.|[ D |- s |
OB 55 125 OMLGT 40 — 100
70
1
. r@% fj M Block (®) for OMLGT40
7 ; L L
®\E MO HE 2 1. HLSPC CatalogNo. | D H
T = o & s s 10
®\r‘ -8 HIE 6} 5 B HLSPC | 40 [—21—
Il [ 40
Iy L2 79 8 8 . -
T | Tl g Order [Catalog No.][ D |- H |
6 S = —
é; 3 Q} j Q} E HLSPC 40 30
Cylinder 2 £ 50 H
a3 Diameter 3 5‘ Material :
#D ‘ T SS400
: +
@104 i N 3
#30,| B For operation
0 & 70 Refer to the dimension of the casting hole below for installation.
2-Rc1/4 T ——.
(152 \ 2 .
" o o) é ~| 5 So
e 10— @20 o
@ T 9| |g g
HETable of Components ] ‘ } < 2k
No.| Description |Qty| Material and Remark No. Description Qty| Material and Remark ‘ ‘L‘ = a®
O | Lifter Plate 1 [ 58400 ® | U Nut 1 | M20 e — !
@ | Cylinder Holder Plate| 1 | SS400 U Nut 1 | M24
3 | Guide Holder 1 | FC250 with Graphite @D | Hexagon Socket Head Bolt| 4 | M6
@ | Guide Pin 1 | S45C HRC55 to 60 @2 | Hexagon Socket Head Bolt| 2 | M12x35
® | Joint 1 | SS400 @3 | Flat Washer 1 |M20
® | Block 1 | SS400 @ | Spring Washer 1 | M24
@ | Stopper 2 | Urethane @ | Shoulder Bolt 2 | M8x20
Air Cylinder 1 | by SMC(#40) Spring Washer 4 | M6
\C J 314

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



